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UNIT—I

1. Answer any two of the following questions :
2x2=4
{a) Name two types of public policy.

(b) Mention two characteristics of public
policy.
{¢/ What purpose does public policy serve?

2. Answer any one of the following questions : 10
(a) Discuss critically any five models of
public policy.
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(2)

(b) Discuss critically the various stages in
the formulation of public policy in India.

-UNIT—II
3. Answer any two of the following questions :
2x2=4
(@) What is -the meaning of
decentralization?
(b) Mention  two advantages of
decentralization.
() What is meant by local self-
government?
4. Answer any one of the following questions : 10
(@) Mention four different types of
decentralization. Discuss the various
approaches of decentralization. 4+6=10
{b) Discuss the composition, powers and
functions of Gram Panchayat. 10
UNIT—III
5. Answer any two of the following questions :
2x2=4
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(@) How is budget defined in the
Constitution of India?

( Continued )

(b)

(c)

(3)

What is meant by quarterly budget *

cycle?

Why does the Government prepare
budget every year?

6. Answer any one of the following questions :

(@)

(b)

Discuss in detail any two types of
budget. 5+5=10

Explain the different stages of the
preparation of budget in India. 10

UNIT—IV

7. Answer any two of the following questions :

(@)
(b)

()

. 2x2=4
What is meant by é-govema.nce?

Mention two challenges that come in the
way of effective public service delivery.

Point out two common grievances
against the administration.

8. Answer any one of the following questions :

{a)
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What is public service delivery? Why is
public service delivery important?
Suggest some measures which will
ensure an effective public service
delivery system. 3+3+4=10
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(b) Point out two differences between
Lokpal and Lokayukta. Discuss the
composition, powers and position of
Lokpal. 2+8=10

UNIT—V

9. Answer any two of the following questions :
2x2=4

(a) Define social welfare administration.

(b} . Mention two objectives of National
Health Mission.

{c) Write a brief note on the Mid-Day Meal
Programme of the Government of India.

10. Answer any one of the following questions :

fa) Mention two objectives of social welfare.
'Discuss the various approaches of
social welfare. 2+8=10

(b) Critically discuss the Mahatma Gandhi
National Rural Employment Guarantee
Act. 10
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